
EXPLODED VIEW 275

AZPMBS
27/05/202427/05/202415/04/2003

1:8 ConfirmedVerifiedDrafted

Init.
Date

Scale:

Plan No.

E0000421/2 /P

5

33

1

2
3

4

4

6

7

7

8

8

49

50

50

11

16

16

19

20

19

20
21

21

22

22

24 25

2520

20

24

21

26

26

27

28

30
31

32

32

40

18

18
29**

42
45

9

9

52

51

16

27

5354

55

56 37

38

A
A (1:2) 34

35

36

5210

11

18

15

17

14
12

23

13

39 16

23

VERMEIREN



AZPMBS
27/05/2024

E000042/P

15/04/2003 27/05/2024

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

29**
30
31
32
33

Material

34
35
36
37
38
39
40
41
42
43*
44*
45
46*
47*
48*
49
50
51
52
53
54
55
56

Material

EXPLODED VIEW 275

* - Not depicted 
** - For Switz only
*** - Option FX + carton U000254/

Init.
Date

Scale: Drafted Verified Confirmed
2/2

Plan No.

26435...
18117...
15072...
15073...
2643404
1611704
1916560
1993419
1991447
1001457
1001683
1993413
1502304
2706000
1517200
1001564
1003558
1001680
1006111
1005957
1000973
2990067
1001558
1008459
1001545
1993120
H016007
1992600
2993604
1993417
2995334
1001572

1909113

1
1
1
2
2
1
2
2
2
2
2
2
2
2
2
6
2

10
2
4
4
4
6
2
4
2
2
2
2
1
2
2

1

YP09307�DP
YP00372
Y004067
Y004072
YP09302

---
Front Wheel

M12x60
Forks 

M10x80 DIN931
M10 DIN 985

M6x75 DIN 912/8.8
X002306
XP01452
X002448

D6,4 DIN 125 A
---

M6 DIN985
M6x40

M6x60 DIN 912/8.8
M6 DIN125A

XP00099
D10,5 DIN 125 A

M6x16
X002305
X002305

D5x25
X005513
YP05288

---
Sterknop M6

M12 DIN 127 A
Handle and Line 

L=960mm

XP00071
Screw D4x12

X004865
---

X002335
M5x10 DIN 916/45H

L=980mm
---

XP00028
---

LOGO VERMEIREN
M6x35 DIN931

---
---
---

XP00108
M8x76 DIN912/8.8

M8
Rear Wheel

Y004199
Y004200
Cap D19
Cap D22

2990040
1990816
1003901
1994587
1993411
1001485
1003279
---
2990012
PP00381
T001002
2995333
1003558
W620150
W620151
GP00604
1998993
1998994
1914606
1511304
1511404
1001602
1990648

2
2
4
2
1
1
2
---
2
2
1
2
1
2
2
2
2
2
2
1
1
2
2

No. Plan Article Quantity No. Plan Article Quantity

|

|
|
|
|

VERMEIREN


